BEsE 515 {H T A
E R 2B T H%) RE1E2800mm )

{ SP13GTB(
[EAREZF:SP13GTB-K]

wastix |EE Watix =
 HaEs HaEs |[Mad B | xwxHm)| (ke) | HAES ey  |[Had EIE | (Lxw xHmm)| (kg)
PG29002 |7 h—#E(¢13x250) | 4 5GT—100 |SPGTS0010000/ 2RIz 4 2482 140x 74 | 20.4
SPGTS0110000|AvhFL—k & 4 SPGTS0020000|#:1% %
SPGTS0120000{ A £yhIL—k & 4 5GT-200 |SPGTS0010000(#RIZH 2482 x 140% 74 | 20.4
SPGTS0300000|FE 1t HFER{TEE 2 SPGTS0030000|# %5
SPGTS0320000|#1 &£ A 4 5GT-250 |SPGTS0100000|:2 1910x68x 60 | 4.7
SPGTS0330000|#7ER{t T L —F 4 5GT-250 [|SPGTS0100000/:Z 1910x68x 60 | 4.7
SPGTS0350000| #4171/ 3— 4 5GT-300 | SPGTS0380000|Z {44k 2565 122x 105| 6.3
SPGTMO0370000| B4R+ )L 20 SPGTS0390000| % 1k #i 1k
SPGTS0400000|RiIE{L#EHR % 1 5GT-353 [SPGTS3310000(#7 (R /%>,2800mm) 2835x 138 x 65 | 17.2
SPGTS0420000| A E LR & 1 SPGTS1150000(fZEtk —E% 4%
SPGTS0500000 |42 &EA 6 SPGTS1160000(fEtk — E% #it#H
SPGTS0510000|6F4E2 £ B 6 9GT-B400|spGTS0170000|fEHR t#EH 259514563 | 18.4
SPGTS0520000 | &F4E 2B ft& & 6 SPGTS0180000|fEHk T#EH
SPGTS0540000(&F48 & 1 CF10S1150000 | 4@ 3% — B¢ A
SPGTS0550000|&FkE1EFEY £ 1 SPGTS1150000(fZEtk —E% #it#%
SPGTS0560000|#FfEEEYH 1 SPGTS1160000(fZEtk —E&% #it#Ha
4985100467 |3EL O 1 9GT-B453| SpGTS3190000 iRk #:# (X /$22800mm) 27509563 | 11.4
4984800014 |T /LR 40-75° B 1 SPGTS3200000 |F% R T #:1% (X $22800mm)
4984800316 @ 40ALEEH R IL 3 CF10S1150000 | 4@ 3% — B¢ A
D A0 BEH FILERA B 3 SLB-13KS| CPL3S3050000 | F 1k &H#E (R /82,2750mm) 2750x45%45 | 5.7
CPCRMO0080000| BX$F B & AR —H— 3 5GT-503 [SPGTS3410000|#im itk o (R/<2800mm) 2860% 125x70 | 7.1
4400940045 [FSAXA 4x45 RS(G) | 4 SPGTS3530000[&F4f (R /3>,2800mm)
4400350086 [FZRX M5%x10 RS(G)| 10 5SL-H116| 1399813117 |f=THd ¢ 42 % 2390 2390x42x42 | 0.4
4401206117 |[LR 6Xx16 SAAVR | 111 XERR - ERBEDIETHEIVEESEDRENDZSTY.
- 4401206122 [tLR 6x20 OF Avk 6 5GT-702 |SPGTM0360000|Z R 1x 2 | 2483x785x70| 19.3
031BL 4401206110 |+ M6x45 RS(GQ)HD%| 7 |[499%270x180( 18.8 | 5GT-703 |SPGTM0360000| E4E 4R 3 | 2483x785x70| 29.1
4401206125 |£LR 6x55 A Avk | 2 5GT-B800|SPGTM0220000| R £ 4 2 | 1s82x794x50| 259
4401506029 [75v¥'N 6x10x16 ¥'4iyN 33 SPGTM0240000|fEtR A4 £ 2
4401508015 |vAwyo+ vk M8 RS(G)| 21 5GT-B853|SPGTM3230000 AR & (R/82800mm) | 1| 000 70450 19.7
4401808011 [lL7vi+—5/16x30Rs(G)| 21 SPGTM3250000) fE## £ (R/8>2800mm) [ 1
4986000064 |Zz)Lk/SvF> 5/16x29 | 21
4985700018 |[E4RF M8F vy 21
4401210036  [M)—3#LR M10Xx 20 Y49k | 26 XHTE2ERDSIBIRITEE S —ILERR{TIT5.
4401210030 |A#EARI)ILEMIOXTORSG) | 9
4401210032 |A#ARI)LE M10Xx80RS(G) | 17
4401510015  [7509N 10a7x20tL-M¢ Rs@ | 90
4401810013 |7wiv—10x22x1.6 RS(G) 26
4985700026 [M6RTFry T 91
4985700119  [M10fRT Xy 47
4985700120 [M10FvbkFx vy 49
4985700110 |BE{+4 AAyk SG-34A 1
4987200002 |kEiEE Al 1
4987200016 |[a—F> 4 1
EC15SGTKO0000|#A 37 SHBAE 1
EC09SPTA0000|ER ik st BAE 1
EC15SGTB0000|E#E s T X 1
5405340212 |r4oRTorTU7HSEREH 1
5406300982 |%—LTL—k(—IL) 1
4201898227 |#Es#H (SFLLILA—) | 1
5406301161 |REFL—)L 6
EC10SBLLO090 [BLEE#+Bsft i B EiRAE 1
164851 i 229.5 kg




{ SP13GTB(

BEcEH S 1RTER

E MR 2E% T #%) RS02800mm: jEAEER )

[EH#RE])
WatEi |EE Watix =
HEES EHmEs e B | (LxwxHm)| (kg) | HHMEES HaES e B | xwxHmm)| (kg)
5GT—150 | SPGTS0040000 |+ AT+ 1 | ugox1aox7a| 204 PEERICERIRS IS THSIVHEEEOREDBHETY.
SPGTS0050000| 4} # dn 1 5GT-702 |SPGTM0360000|Z 81k 2 |2483x785x70| 19.3
5GT-250 | SPGTS0100000|:2 1 | 1910xe8x60 | 47 | 5GT-702 |SPGTM0360000| E4E 4R 2 | 2483x785x70| 19.3
5GT-353 |SPGTS3310000|#7 (R /%>,2800mm) 2 | 2835x138x65| 17.2 XERRLERIE=4n+1_ (n: 1D
SPGTS1150000 |4k —Ex #fit#7E 1 5GT-B853|SPGTM3230000| B4R # (R/822800mm) | 1 |00 . 7e4xs0| 197
SPGTS1160000 (&R —E& #t#rH 1 SPGTM3250000| R % £ (R/3>2800mm) | 1
SGT-B453| spGTS3190000 MR L ik (/8 2800mm)| 1 | 2790%95x63 | 11.4
SPGTS3200000 |FEHR T #2:1% (s $2800mm)| 1
CF10S1150000 |fh %38 — B¢ A 2
SLB-13KS| CPL3S3050000 | & 1k sh#E (/82 2750mm) | 1 | 2750x45%x45 | 5.7 |XHTIE2ARDSIBIRITERE L —ILEBEF T3,
5GT-503 | SPGTS3410000 #im{Lsiin = (Z/</2800mm) T | s60x125x70| 7.1
SPGTS3530000] #F4§ (X /\>,2800mm) 1
[SP13GTB-LN(~THi#EL) DIHE]) [SP13GTB-L (f-THiftE) DIHE]

PG29002 |72 h—# (¢ 13 x 250) 2 5SL-H116| 1399813117 |f=THE ¢ 42 X 2390 1 | 2390x42x42 | 0.4
SPGTS0110000|AtvtTL—F & 2 PG29002 |7 H—#5 (¢ 13 % 250) 2
SPGTS0120000|AtvtTL—k & 2 SPGTS0110000(AtvtTL—k & 2
SPGTS0300000|E i1 H#FEE £ E 2 SPGTS0120000|A&vhFL—F & 2
SPGTS0330000|#TEX{+ T L—F 2 SPGTS0300000|E ik H#HEER{T £ E 2
SPGTMO0370000| 2R H KL 16 SPGTS0330000(#7E{t TL—F 2
SPGTS0500000 |42 & EA 4 SPGTMO0370000|ERH KL 16
SPGTS0510000|#F4E % £ EB 4 SPGTS0500000(#F4E %€ EA 4
SPGTS0520000 | &F4E 2 H & & 4 SPGTS0510000|$F5E =& BB 4

4400350086 [F5RX M5%10 RS(G)| 2 SPGTS0520000| ¥t Z BN {+E 8 4
4401206117 |[LR 6x16 SAAyL | 55 4985100467 |3&L O 1
4401206122 |tLR 6x20 A Ayk 4 4984800014 |T/LAR 40-75° B 1
4401206110 [+ X M6 x 45 RS(Q)H D%k 4984800316 | DAOALEYFIL 3
5GT-033 4401206125 |tLR 6x55 A Ayk 2 2 @ 40ALEEH FILER{T & 3
(f-TkBME) | 4401506029 [75v9'N 6x10x16 yAsy 26 |200%215%120| 8.3 CPCRMO080000| B2 4FER f A" —H— | 3
4401508015 |vAv~+vk M8 RS(G)| 17 4400940045 |FSAA 4x45 RS(G) | 4
4401808011 [li7vsv—5/16x30Rs(@)| 17 4400350086 |[F5 R M5x10 RS(G)| 2
4986000064 |7z)Lk/Sv¥> 5/16x29 | 17 4401206117 |ELR 6x16 SAAYL | 55
4985700018 |E4RFA M8¥x+rv7 17 3?%3?;‘) 4401206122 |tLsR 6x20 Sy | 4 |260%215x120) 85
4401210036 |M)—vtALA M10X20 Y'4A9k | 13 4401206110 |+.L R M6 X 45 RS(G)HSFE
4401210030 |/AfA/LE MIOXTORSG) | 4 4401206125 |+LR 6x55 DA Avk 2
4401210032 |A<fEA/Lk MIOX80RS(G) | 8 4401506029 |75UY'N 6x10x16 y'AsHN 26
4401510015 |7509'N 1007 x20)tb-t Rs@ | 26 4401508015 |vAvys+vk M8 RS(G) | 17
4401810013 |7y +—10x22x1.6RRS(G)] 13 4401808011 |u7vsv—5/16x30RS(G)| 17
4985700026 (M6 F vy 42 4986000064 |Zz/Lb/SvFy 5/16x29 | 17
4985700119 [M10R T F vy 24 4985700018 |ERA M8F+vvJ 17
4985700120 [M10FvbFrvrS 25 4401210036 |)—-v£AR M10x20 ¥'44vk | 13
4985700110 |BE{+4 AAyk SG-34A 1 4401210030 |AfA/LE MI0XT0RSG) | 4
4987200016 |3—F> % 1 4401210032 |/<fA/Lk MI0OX80RS@G) | 8
4401510015  |7599'N 1007 x20tL-Mt Rs@ | 26
4401810013 [7wiv—10x22x16Rs(G) 13
4985700026 M6 F vy 42
4985700119  |M10ART Xy 24
4985700120 |[M10FvhF¥vT 25
4987200002 |bEiEEHI 1
4987200016 |a—F> % 1
10488 a&t 133.1 ke 118 =11 133.7 ke




